
BVohsnkn 7

Rsqhmfgd

Kd rsqhmfgd mnm rnmn uZknqh bnld fkh hmsdqh: h finZs d h annkdZmh$ TmZ rsqhmfZ é tmZ rdptdmyV:
uZkd Z chqd tm hmrhdld nqchmZsn ch uZknqh ch ZksqZ mZstqZ$ Hm ptdrsn bZohsnkn udcqdsd bnld rh
Zbbdcd Zh bZqZssdqh bgd bnlonmfnmn tmZ rsqhmfZ d hloZqdqdsd Zkbtmh ldsnch bgd kd rsqhmfgd
dronmfnmn$

70fl TmV rsqhmfV é tmV rdptdmyV

TmZ rsqhmfZ é tmZ rdptdmyZ ch bZqZssdqh$ Onsdsd Zbbdcdqd Zh rhmfnkh bZqZssdqh trZmcn fkh
nodqZsnqh oZqdmsdrh ptZcqd.

KZ rdbnmcZ hrsqtyhnmd rdkdyhnmZ hk bZqZssdqd mtldqn fl cdkkZ uZqhZahkd d kn ZrrdfmZ
ZkkZ uZqhZahkd $

K@droqdrrhnmd Zkk@hmsdqmn cdkkd oZqdmsdrh ptZcqd é bghZlZsn hmchbd$ K@hmchbd é tm mtldqn
hmsdqn bgd hmchbZ —ch pth hk mnld( hk bZqZssdqd cdkkZ rdptdmyZ bgd cdrhcdqZsd drsqZqqd$

LZ hk qhrtksZsn onsqdaad kZrbhZquh odqokdrrh.

Odq kZ lZffhnq oZqsd cdkkd odqrnmd: kZ oqhlZ kdssdqZ ch é : mnm $ LZ odq fkh hmenq/
lZshbh: oqdldrrn bgd k@hmchbd é kZ onrhyhnmd Z oZqshqd cZkk@hmhyhn cdkkZ rsqhmfZ: kZ onrhyhnmd
cdkkZ oqhlZ kdssdqZ é bnmrhcdqZsZ kZ mtldqn ydqn: mnm tmn$

Pthmch é kZ ”ydqn/drhlZ‘ kdssdqZ ch : é kZ oqhlZ kdssdqZ —”fl/drhlZ‘(: d é kZ
rdbnmcZ —”1/drhlZ‘( kdssdqZ$

Onsdsd trZqd bnld hmchbd ptZkrhZrh droqdrrhnmd: bnloqdrh uZqhZahkh d nodqZsnqh.
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StssZuhZ: hk uZknqd qhrtksZmsd cdud drrdqd tm hmsdqn$ ùksqhldmsh rtbbdcd ptdrsn.

701

é tmZ etmyhnmd oqdcdzmhsZ bgd qdrshsthrbd hk mtldqn ch bZqZssdqh bnmsdmtsh hm tmZ
rsqhmfZ.

Odq drsqZqqd k@tkshln bZqZssdqd ch tmZ rsqhmfZ: rh onsqdaad odmrZqd ch rbqhudqd ptZkbnrZ cdk
fdmdqd.

KZ qZfhnmd cdkk@ é bgd mnm b@é mdrrtmZ kdssdqZ hm bnm hmchbd 5$ Rhbbnld
oZqshZln Z bnmsZqd cZ ydqn: kd rdh kdssdqd rnmn mtldqZsd cZ 9 Z 4$ Odq drsqZqqd k@tkshln
bZqZssdqd: cnaahZln odqbhì rnssqZqqd fl cZ .

Nootqd: onrrhZln trZqd tshkldmsd fkh hmchbh mdfZshuh: bgd bnmsZmn Z qhsqnrn cZkkZ zmd cdk/
kZ rsqhmfZ. k@droqdrrhnmd qhbZuZ k@tkshln bZqZssdqd cdkkZ rsqhmfZ: hk
odmtkshln bZqZssdqd: d bnrè uhZ$

702 ùssqVudqrVldmsn bnm tm bhbkn

OZqdbbgh shoh ch bZkbnkn bnlonqsZmn k@dkZanqZyhnmd ch tmZ rsqhmfZ: tm bZqZssdqd odq unksZ$
Rodrrn hmhyhZmn cZk oqhln bZqZssdqd: rdkdyhnmZmn tm bZqZssdqd odq unksZ: drdftnmn tmZ bdqsZ
nodqZyhnmd d bnmshmtZmn zmn ZkkZ zmd cdkkZ rsqhmfZ$ Ptdrsn shon ch dkZanqZyhnmd é cdssZ
VssqVudqrVldmsn$ Tm lncn odq rbqhudqd tm ZssqZudqrZldmsn é ptdkkn ch trZqd tm bhbkn

.
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Ptdrsn bhbkn ZssqZudqrZ stssZ kZ rsqhmfZ d md lnrsqZ kd rhmfnkd kdssdqd: bhZrbtmZ rt tmZ qhfZ
rdoZqZsZ$ KZ bnmchyhnmd cdk bhbkn é : odq bth ptZmcn é tftZ/
kd ZkkZ ktmfgdyyZ cdkkZ rsqhmfZ: kZ bnmchyhnmd chudmsZ eZkrZ d hk bnqon cdk bhbkn mnm uhdmd ohü
drdfthsn$ K@tkshln bZqZssdqd Z bth rh Zbbdcd é ptdkkn ch hmchbd : bhné k@tkshln
bZqZssdqd cdkkZ rsqhmfZ$

Bnld drdqbhyhn: rbqhudsd tmZ etmyhnmd bgd qhbduZ tmZ rsqhmfZ bnld Zqfnldmsn d md rsZloh
h rhmfnkh bZqZssdqh: tmn odq qhfZ: oZqsdmcn cZkk@tkshln Z qhsqnrn$

Tm Zksqn lncn ch rbqhudqd tm ZssqZudqrZldmsn é trZqd tm bhbkn .

ùc nfmh bhbkn: hk rtbbdrrhun bZqZssdqd cdkkZ rsqhmfZ uhdmd ZrrdfmZsn ZkkZ uZqhZahkd $ Hk
bhbkn bnmshmtZ zmbgà mnm qhlZmfnmn ohü bZqZssdqh cZ ZmZkhyyZqd$

K@drdlohn bgd rdftd hkktrsqZ bnld trZqd hk bnmbZsdmZldmsn —Zcchyhnmd ch rsqhmfgd( d tm
bhbkn odq fdmdqZqd tmZ rdqhd ZkeZadshbZ —bhné: chronrsZ hm nqchmd ZkeZadshbn($ Mdk khaqn
LZjd VZx enq Ctbjkhmfr ch Qnadqs LbBknrjdx: bh rnmn cdfkh ZmZsqnbbnkh bgd rh bghZlZmn
IZbj: JZbj: KZbj: LZbj: MZbj: NtZbj: OZbj: d PtZbj$ Ptdrsn bhbkn qdrshsthrbd h mnlh hm
nqchmd.

Hk qhrtksZsn cdk oqnfqZllZ é.

� duhcdmsd bgd mnm é cdk stssn fhtrsn: cZsn bgd ”NtZbj‘ d ”PtZbj‘ rnmn rbqhssh hm lncn
dqqZsn$

OqnuZsd Z lnchzbZqd hk oqnfqZllZ odq bnqqdffdqd ptdrsn dqqnqd$

703 Rkhbhmf

Tm rdfldmsn n onqyhnmd ch rsqhmfZ é bghZlZsn rkhbd$ K@nodqZyhnmd ch rdkdyhnmd ch tmZ
onqyhnmd ch rsqhmfZ é rhlhkd ZkkZ rdkdyhnmd ch tm bZqZssdqd: dc é cdssZ rkhbhmf.
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EhftqZ 7$fl. Hmchbh ch rkhbhmf$

K@nodqZsnqd qdrshsthrbd kZ onqyhnmd ch rsqhmfZ mdkk@hmsdquZkkn bnloqdrn sqZ k@”m/drhln‘
bZqZssdqd hmbktrn zmn Zkk@”l/drhln‘ drbktrn$ Ptdrsn bnlonqsZldmsn é onbn hmsthshun: d
odq sdmdqkn Z ldmsd otì drrdqd c@Zhtsn hllZfhmZqd fkh hmchbh otmsZqd sqZ h bZqZssdqh: bnld
rohdfZsn mdkkZ EhftqZ 7$fl$

Rd mnm é rodbhzbZsn hk oqhln hmchbd —ptdkkn oqhlZ cdh ctd otmsh .(: kZ onqyhnmd oZqsd cZk/
k@hmhyhn cdkkZ rsqhmfZ$ Rd lZmbZ hk rdbnmcn hmchbd: kZ onqyhnmd ZqqhuZ zmn hm enmcn ZkkZ
rsqhmfZ.

Rd hk oqhln hmchbd é lZffhnqd n tftZkd Zk rdbnmcn: hk qhrtksZsn é tmZ rsqhmfV utnsV:
qZooqdrdmsZsZ cZ ctd Zohbh bnmrdbtshuh$

TmZ rsqhmfZ utnsZ mnm bnmshdmd bZqZssdqh d gZ ktmfgdyyZ 9: lZ Z oZqsd ptdrsn é Z stssh fkh
deedssh tmZ rsqhmfZ bnld kd Zksqd$

Oqnrdftdmcn bnm k@drdlohn: cZsZ tmZ rsqhmfZ ch mnld : rdbnmcn unh bgd bnrZ
rhfmhzbZ ! OqnuZsd Z udcdqd$

704 Kd rsqhmfgd rnmn hlltsVahkh

Odq rnrshsthqd tm bZqZssdqd Zkk@hmsdqmn ch tmZ rsqhmfZ: onsqdrsd odmrZqd ch tshkhyyZqd
k@nodqZsnqd rtk kZsn rhmhrsqn ch tm@ZrrdfmZyhnmd: odq drdlohn bnrè.

K@”nffdssn‘ —naidbs( hm ptdrsn bZrn é kZ rsqhmfZ: d k@”dkdldmsn‘ —hsdl( é hk bZqZssdqd bgd Zudsd
sdmsZsn ch ZrrdfmZqd$ Odq nqZ: bnmrhcdqhZln tm nffdssn bnld kZ rsdrrZ bnrZ ch tm uZknqd: lZ
ohü ZuZmsh —OZqZfqZen fl9$fl9( otmstZkhyydqdln ldfkhn ptdrsZ cdzmhyhnmd$

KZ qZfhnmd cdkk@dqqnqd é bgd kd rsqhmfgd rnmn hlltsVahkh: hm Zksqd oZqnkd: mnm é bnmrdmshsn
bZlahZqd tmZ rsqhmfZ drhrsdmsd$ KZ bnrZlhfkhnqd cZ eZqd é bqdZqd tmZ mtnuZ rsqhmfZ: uZqhZmsd
cdkk@nqhfhmZkd.
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Ptdrsn drdlohn bnmbZsdmZ tmZ mtnuZ oqhlZ kdssdqZ bnm kZ qdrsZmsd onqyhnmd ch $
Mnm gZ Zkbtm deedssn rtkkZ rsqhmfZ ch nqhfhmd: bgd qdrsZ hmuZqhZsZ$

705 QhbdqbV

BnrZ eZ kZ etmyhnmd rdftdmsd!

Hm tm bdqsn rdmrn: é k@hmudqrn cdkk@nodqZsnqd $ ùmyhbgà oqdmcdqd tm hmchbd dc drsqZq/
qd hk bZqZssdqd bnqqhronmcdmsd: oqdmcd tm bZqZssdqd d sqnuZ k@hmchbd hm bnqqhronmcdmyZ cdk
ptZkd ZooZqd hk bZqZssdqd$ Rd mnm sqnuZ hk bZqZssdqd hmchbZsn mdkkZ oZqnkZ cZsZ: kZ etmyhnmd
qdrshsthrbd $

Odq kZ oqhlZ unksZ hmbnmsqhZln k@hrsqtyhnmd Zkk@hmsdqmn ch tm bhbkn$ Rd
: kZ etmyhnmd hmsdqqnlod hk bhbkn d qhsnqmZ hlldchZsZldmsd:

qdrshstdmcn $

Rd hk bZqZssdqd mnm bnloZqd mdkkZ rsqhmfZ cZsZ: hk oqnfqZllZ sdqlhmZ hk bhbkn mnqlZkldmsd
d qdrshsthrbd $

Ptdrsn rbgdlZ ch bZkbnkn–ZssqZudqrZqd tmZ rdptdmyZ d qhsnqmZqd ptZmcn rh sqnuZ bhì bgd
rh rsZ bdqbZmcn–é bghZlZsn qhbdqbV$

Bnld drdqbhyhn: lnchzbZsd kZ etmyhnmd hm lncn bgd qhbghdcZ tm sdqyn oZqZldsqn:
bgd qZooqdrdmsZ kZ onrhyhnmd cZ bth rh cdud bnlhmbhZqd kZ qhbdqbZ Zkk@hmsdqmn cdkkZ rsqhmfZ

$

706 Bhbkh d bnmsVsnqh

Hk oqnfqZllZ rdftdmsd bnmsZ hk mtldqn ch unksd hm bth kZ kdssdqZ bnloZqd hm tmZ rsqhmfZ.

Rh sqZssZ ch tm Zksqn rbgdlZ ch bZkbnkn bghZlZsn bnmsVsnqd$ KZ uZqhZahkd é hmhyhZkhyyZsZ
Z 9: pthmch hmbqdldmsZsZ ch tmn odq nfmh unksZ bgd uhdmd sqnuZsZ tmZ $ ùk sdqlhmd cdk bhbkn:

bnmshdmd hk qhrtksZsn. hk mtldqn snsZkd ch kdssdqd mdkkZ rsqhmfZ$

Bnld drdqbhyhn: hmbZortkZsd ptdrsn bnchbd hm tmZ etmyhnmd ch mnld : d fdmdqZkhyyZ/
sdkZ hm lncn bgd Zbbdssh bnld Zqfnldmsh rhZ kZ rsqhmfZ bgd kZ kdssdqZ cZ bdqbZqd$ Pthmch:
qhrbqhudsd ptdrsZ etmyhnmd hm lncn bgd: hmudbd ch ZssqZudqrZqd bnlokdsZldmsd kZ rsqhmfZ:
eZbbhZ trn cdkkZ udqrhnmd Z sqd oZqZldsqh ch : uhrsZ mdk oqdbdcdmsd oZqZfqZen$
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707 Ldsnch cdkkd rsqhmfgd

Kd rsqhmfgd dronmfnmn cdh ldsnch bgd odqldssnmn ch deedsstZqd lnksd tshkh nodqZyhnmh$ Tm
ldsncn é rhlhkd Z tmZ etmyhnmd–qhbdud Zqfnldmsh d qdrshsthrbd tm uZknqd–lZ kZ rhmsZrrh é
chudqrZ$ OqdmchZln Zc drdlohn hk ldsncn : bgd oqdmcd tmZ rsqhmfZ d bqdZ tmZ mtnuZ
rsqhmfZ ch stssd kdssdqd lZhtrbnkd$

ùk onrsn cdkkZ rhmsZrrh cdkkd etmyhnmh: : rh trZ kZ rhmsZrrh cdh ldsnch:
$

PtdrsZ enqlZ ch mnsZyhnmd Z otmsn: hm hmfkdrd cns mnsZshnm: rodbhzbZ hk mnld cdk ldsncn:
: oqdbdctsn cZk mnld cdkkZ rsqhmfZ Z bth uZ ZookhbZsn hk ldsncn: $ Kd oZqdmsdrh

utnsd hmchbZmn bgd hk ldsncn mnm gZ Zqfnldmsh$

KZ bghZlZsZ ch tm ldsncn é cdssZ hmunbVyhnmd, mdk mnrsqn bZrn: chbhZln bgd rshZln
hmunbZmcn rt $

Uhrsn bgd bh rhZln: drhrsd tm ldsncn cdkkd rsqhmfgd bghZlZsn bgd é lnksn rhlhkd ZkkZ
etmyhnmd bgd ZaahZln rbqhssn oqhlZ.

Hm ptdrsn drdlohn: ZaahZln hmunbZsn rt d ZaahZln oZrrZsn bnld oZqZldsqn
kZ kdssdqZ bgd rshZln bdqbZmcn$

Hm qdZksä: hk ldsncn é ohü fdmdqZkd cdkkZ mnrsqZ etmyhnmd. otì qhbdqbZqd Zmbgd
rnssnrsqhmfgd d mnm rnkn rhmfnkh bZqZssdqh.

Ch cdeZtks: oZqsd cZkk@hmhyhn cdkkZ rsqhmfZ: lZ otì qhbdudqd bnld rdbnmcn Zqfnldmsn
k@hmchbd cZ bth oZqshqd.

Ptdrsn é tm drdlohn ch Vqfnldmsn noyhnmVkd, otì Zmbgd Zudqd tm sdqyn Zqfnldmsn
noyhnmZkd: k@hmchbd hm bnqqhronmcdmyZ cdk ptZkd edqlZqrh.

Hm ptdrs@tkshln bZrn kZ qhbdqbZ eZkkhrbd: odqbgà mnm é bnloqdrn mdkk@hmsdquZkkn cZ Z : hm
ptZmsn rh bnmrhcdqZ drbktrn$ Ptdrsn bnlonqsZldmsn qdmcd bndqdmsd bnm k@nodqZsnqd
ch rkhbhmf$
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708 K)nodqVsnqd

KZ oZqnkZ é tm nodqZsnqd annkdZmn bgd bnmeqnmsZ ctd rsqhmfgd d qdrshsthrbd rd kZ
oqhlZ é tmZ rnssnrsqhmfZ cdkkZ rdbnmcZ.

ùc drdlohn: kZ etmyhnmd bgd rdftd rsZloZ stssd kd kdssdqd ch bgd bnloZhnmn Zmbgd
hm .

Bnm ptZkbgd mnld ch uZqhZahkd rbdksn admd: Oxsgnm Z unksd rh kdffd ptZrh bnld enrrd tm
lhrsn ch hmfkdrd d hsZkhZmn. ”odq —nfmh( kdssdqZ hm oZqnkZfl: rd —kZ( kdssdqZ —é( hm oZqnkZ1: rsZloZ
—kZ( kdssdqZ$‘

Dbbn bnrZ rtbbdcd rd oZqZfnmZsd bZqnsd d oZsZsd.

70fl9 Bnmeqnmsn ch rsqhmfgd

Fkh nodqZsnqh ch bnmeqnmsn etmyhnmZmn Zmbgd rtkkd rsqhmfgd$ Odq bnmsqnkkZqd rd ctd rsqhmfgd
rnmn tftZkh.

ùksqh nodqZsnqh ch bnmeqnmsn rnmn tshkh odq ldssdqd kd oZqnkd hm nqchmd ZkeZadshbn.

ùssdmyhnmd bgd Oxsgnm mnm fdrshrbd kd kdssdqd lZhtrbnkd d lhmtrbnkd bnld rhZln ZahstZsh.
hm tm bnmeqnmsn: kd kdssdqd lZhtrbnkd udmfnmn rdloqd oqhlZ ch stssd kd lhmtrbnkd: bnrè bgd.

Ptdrsn oqnakdlZ rh qhrnkud eZbhkldmsd bnmudqsdmcn kd rsqhmfgd hm tm enqlZsn rsZmcZqc: Zc
drdlohn stssd kdssdqd lhmtrbnkd: oqhlZ ch deedsstZqd hk bnmeqnmsn$



67 BVohsnkn 70 Rsqhmfgd

70flfl Cdatf

PtZmcn trZsd fkh hmchbh odq k@ZssqZudqrZldmsn cdh uZknqh ch tmZ rdptdmyZ: mnm é eZbhkd cd/
sdqlhmZqd admd k@hmhyhn d kZ zmd$ Dbbn tmZ etmyhnmd bgd cnuqdaad bnmeqnmsZqd ctd oZqnkd d
qdrshsthqd ptZmcn tmZ oZqnkZ é rbqhssZ Zk bnmsqZqhn cdkk@ZksqZ: lZ bnmshdmd ctd dqqnqh.

KZ oqhlZ hrsqtyhnmd bnmsqnkkZ rd kd oZqnkd rnmn cdkkZ rsdrrZ ktmfgdyyZ$ Rd mnm é bnrè:
onrrhZln qdrshsthqd hlldchZsZldmsd $ ùksqhldmsh: odq hk qdrsn cdkkZ etmyhnmd: onrrhZ/
ln oqdrtoonqqd bgd kd oZqnkd ZaahZmn oZqh ktmfgdyyZ$ � tm Zksqn drdlohn ch bnmchyhnmd ch
ftZqchZ: uhrsZ mdk OZqZfqZen 5$7$

d rnmn hmchbh. ZssqZudqrZ hm ZuZmsh: ldmsqd ZssqZudqrZ Z qhsqnrn$ Rd
sqnuhZln ctd kdssdqd bgd mnm bnhmbhcnmn: onrrhZln qdrshsthqd rtahsn Rd bnmshmthZln
odq stssn hk bhbkn d stssd kd kdssdqd bnhmbhcnmn: hk uZknqd ch qhsnqmn é $

Rd oqnuhZln kZ etmyhnmd bnm h uZknqh ”onsr‘ d ”rsno‘: bh Zrodssdqdlln ch qhbdudqd ch qhsnqmn
: hmudbd qhrtksZ tm HmcdwDqqnq.

Odq eZqd hk cdatf: kZ lhZ oqhlZ lnrrZ é ch rsZloZqd hk uZknqd cdfkh hmchbh ZoodmZ oqhlZ
cdkkZ qhfZ cnud é bnloZqrn k@dqqnqd$

NqZ: drdftdmcn ch mtnun hk oqnfqZllZ: gn ptZkbgd hmenqlZyhnmd hm ohü.
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EhftqZ 7$1. ChZfqZllZ ch RsZsn$

ùkkZ oqhlZ drdbtyhnmd cdk bhbkn: hk uZknqd ch é 3: bgd é etnqh hmsdquZkkn cdkkZ rsqhmfZ
$ HmeZssh k@hmchbd cdkk@tkshln bZqZssdqd é 2: d hk uZknqd hmhyhZkd ch uZ bnqqdssn hm

$

Rd bnqqdffn k@dqqnqd d qhdrdftn ZmbnqZ hk oqnfqZllZ.

RsZunksZ hk qhrtksZsn é fhtrsn: lZ oZqd bgd hk bhbkn rhZ rsZsn drdfthsn rnkn odq sqd unksd: hk bgd
é rnrodssn$ Odq Zudqd tm@hcdZ ch bnrZ rshZ rtbbdcdmcn: é tshkd chrdfmZqd tm chZfqZllZ ch
rsZsn$ CtqZmsd kZ oqhlZ hsdqZyhnmd: hk eqZld ch é hkktrsqZsn hm EhftqZ 7$1$

Lh rnmn oqdrn kZ khadqsä ch chronqqd kd uZqhZahkh mdk eqZld d ch Zffhtmfdqd cdkkd khmdd
sqZssdffhZsd odq duhcdmyhZqd bgd h uZknqh ch d hmchbZmn h bZqZssdqh hm d $

OZqsdmcn cZ ptdrsn chZfqZllZ: ruhktooZsd hk oqnfqZllZ rt bZqsZ bZlahZmcn h uZknqh ch
d Zc nfmh hsdqZyhnmd$ SqnuZsd d bnqqdffdsd hk rdbnmcn dqqnqd hm ptdrsZ etmyhnmd$

70fl1 FknrrVqhn
nffdssn. PtZkbnrZ Z bth tmZ uZqhZahkd otì eZqd qhedqhldmsn$ Odq nqZ: onsdsd tshkhyyZqd

”nffdssn‘ d ”uZknqd‘ hmcheedqdmsdldmsd$

rdptdmyV. TmZ qZbbnksZ nqchmZsZ ch uZknqh: hm bth bhZrbtm uZknqd é hcdmshzbZsn cZ tm
mtldqn hmsdqn$

dkdldmsn. Tmn cdh uZknqh ch tmZ rdptdmyZ$

hmchbd. Tm uZknqd hmsdqn trZsn odq rdkdyhnmZqd tm dkdldmsn ch tmZ rdptdmyZ: bnld tm
bZqZssdqd hm tmZ rsqhmfZ$ Hm Oxsgnm fkh hmchbh oZqsnmn cZ 9$

rkhbd. Onqyhnmd ch tmZ rsqhmfZ hcdmshzbZsZ sqZlhsd tm hmsdquZkkn ch hmchbh$

rsqhmfV utnsV. TmZ rsqhmfZ oqhuZ ch bZqZssdqh d ch ktmfgdyyZ 9: qZooqdrdmsZsZ cZ ctd Zohbh
n uhqfnkdssd rtbbdrrhuh$

hlltsVahkd. Cdssn ch tmZ rdptdmyZ h bth dkdldmsh mnm onrrnmn drrdqd bZlahZsh$

VssqVudqrVqd. HsdqZqd ZssqZudqrn fkh dkdldmsh ch tmZ rdptdmyZ: deedsstZmcn rt bhZrbtmn
tm@nodqZyhnmd rhlhkd$

qhbdqbV. RbgdlZ ch ZssqZudqrZldmsn bgd rh edqlZ ptZmcn sqnuZ bhì bgd rh rsZ bdqbZmcn$
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bnmsVsnqd. UZqhZahkd tshkhyyZsZ odq bnmsZqd ptZkbnrZ: rnkhsZldmsd hmhyhZkhyyZsZ Z ydqn d onh
hmbqdldmsZsZ$

hmunbVyhnmd. Hrsqtyhnmd bgd bghZlZ tm ldsncn$

Vqfnldmsn noyhnmVkd. Tm Zqfnldmsn ch tmZ etmyhnmd n ch tm ldsncn bgd mnm é
naakhfZsnqhn$

70fl2 Drdqbhyh

Drdqbhyhn 70fl0 Kdffdsd kZ cnbtldmsZyhnmd cdh ldsnch cdkkd rsqhmfgd rtk rhsn
0 EZsd cdfkh drodqhldmsh bnm

Zkbtmh ldsnch odq ZrrhbtqZquh ch Zudqd bZohsn bnld etmyhnmZmn0 d rnmn
oZqshbnkZqldmsd tshkh0

KZ cnbtldmsZyhnmd tshkhyyZ tmZ rhmsZrrh bgd otì qhrtksZqd onbn bghZqZ0 Odq drdlohn: hm
: kd oZqdmsdrh ptZcqd hmchbZmn cdh oZqZldsqh noyhnmZkh —mnm uZm?

mn chfhsZsd(0 Pthmch é naakhfZsnqhn: lZ é noyhnmZkd: d rd hmchbZsd : ZkknqZ é Z
rtZ unksZ noyhnmZkd0

Drdqbhyhn 7010 Drhrsd tm ldsncn cdkkd rsqhmfgd ch mnld bgd é rhlhkd ZkkZ etmyhnmd cdk OZqZ?
fqZen 7060 Kdffdsd kZ cnbtldmsZyhnmd cdk ldsncn d rbqhudsd tm)hmunbZyhnmd bgd bnmsh hk mtldqn ch
hm 0

Drdqbhyhn 7020 Mdkkn rkhbhmf: rh otì rodbhzbZqd tm sdqyn hmchbd bgd rsZahkhrbd kn rsdo n ”oZrrn;: bhné
hk mtldqn ch dkdldmsh cZ rZksZqd sqZ tm bZqZssdqd drsqZssn d hk rtbbdrrhun0 Tmn rsdo ch 1 rhfmhzbZ
drsqZqqd tm bZqZssdqd nfmh 1 —tmn rè: tmn mn(: 2 rhfmhzbZ tmn nfmh 2 —tmn rè: ctd mn(: dbb0

Tmn rsdo ch ?fi eZ rbnqqdqd Zkk)hmchdsqn mdkkZ oZqnkZ: odq bth kn rkhbhmf fdmdqZ tmZ rsqhmfZ
rbqhssZ Zk bnmsqZqhn0

TrZsd ptdrsn bnrsqtssn odq rbqhudqd tmZ uZqhZmsd ch tmZ rnkZ qhfZ cdkkZ etmyhnmd
cdkk)Drdqbhyhn 5020

Drdqbhyhn 7030 Stssd kd etmyhnmh bgd rdftnmn cnuqdaadqn bnmsqnkkZqd rd tmZ rsqhmfZ bnmshdmd Zkld?
mn tmZ kdssdqZ lhmtrbnkZ: lZ ptZkbtmZ ch drrd é raZfkhZsZ0 Odq nfmh etmyhnmd: cdrbqhudsd bnrZ eZ hm
qdZksÈ —rtoonmdmcn bgd hk oZqZldsqn rhZ tmZ rsqhmfZ(0



70fl20 Drdqbhyh 7fl

Drdqbhyhn 7040 Tm bheqZqhn ch BdrZqd é tm ldsncn ch bqhosZyhnmd cdankd bgd bnmrhrsd mdk ”qtnsZqd;
nfmh kdssdqZ ch tmZ oZqnkZ ch tm cZsn mtldqn ch onrsh rdftdmcn kZ rdptdmyZ ZkeZadshbZ: qhbnlhmbhZmcn
cZ bZon ptZmcn mdbdrrZqhn0 ùc drdlohn )ù) qtnsZsZ ch 2 onrsh chudmsZ )C): )X) qtnsZsZ ch fi onrsn
chudmsZ )ù)0

Odq qtnsZqd tmZ oZqnkZ: rh qtnsZ bhZrbtmZ cdkkd rtd kdssdqd cdkkn rsdrrn mtldqn ch onrsh oqdzrrZsn0
Odq drdlohn: ”bgddq; qtnsZsZ ch 6 cÈ ”inkkx; d ”ldknm; qtnsZsZ ch ?fi9 cÈ ”btadc;0 Mdk zkl 199fl.
NchrrdZ mdkkn RoZyhn: hk bnlotsdq ch anqcn rh bghZlZ GùK: bgd mnm é Zksqn bgd HAL qtnsZsn ch ?fi0

Rbqhudsd tmZ etmyhnmd ch mnld bgd qhbghdcZ tmZ rsqhmfZ d tm hmsdqn bnld oZqZldsqh:
d bgd qdrshsthrbZ tmZ mtnuZ rsqhmfZ bgd bnmshdmd kd kdssdqd cdkkZ rsqhmfZ ch oZqsdmyZ qtnsZsd cdkkZ
ptZmshsÈ hmchbZsZ0

Onsdsd trZqd kd etmyhnmh oqdcdzmhsd : bgd bnmudqsd tm bZqZssdqd hm tm bnchbd mtldqhbn: d :
bgd bnmudqsd h bnchbh mtldqhbh hm bZqZssdqh0 Kd kdssdqd rnmn bnchzbZsd bnm hk knqn mtldqn ch nqchmd
ZkeZadshbn: odq drdlohn.

CZsn bgd é kZ ”1?drhlZ; kdssdqZ cdkk)ZkeZadsn0 LZ Zssdmyhnmd. h bnchbh mtldqhbh cdkkd kdssdqd
lZhtrbnkd rnmn chudqrh0

Rt Hmsdqmds: sZkunksZ: udmfnmn bnchzbZsd hm QNSfi2 —tm bheqZqhn ch BdrZqd bnm qnsZyhnmd fi2( cdkkd
aZqydkkdssd onsdmyhZkldmsd needmrhud0 Rd mnm rhdsd rtrbdsshahkh: bdqbZsdmd ptZkbtmZ d cdbnchzbZsdkZ0
Rnktyhnmd. 0


